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1	Introduction
In RAN2#123 meeting, several documents discuss SR/BSR aspects on multi-path relay. Since we have a new protocol architecture for Multi-path Scenario 2, there is a need to discuss how BSR is reported for Multi-path Scenario 2.
[bookmark: _Ref178064866]2	Discussion
Since it was agreed not to specify adaptation layer over both the UE-to-UE link (non-3GPP link) and the Uu link for Scenario 2 in RAN2, the user plane protocol stack for MP Scenario 2 may look like the following figure:
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Figure 2. User plane protocol stack for multi-path Scenario 2
[bookmark: _Ref189046994]In addition, RAN2#120 agreed that without the adaptation layer over the UE-to-UE link, a PDCP PDU can be delivered to an intended PDCP entity or RLC entity for support of more than one RB over the UE-to-UE link based on UE implementation, which implies a PDCP entity in the remote UE is mapped to an RLC entity in the relay UE for an indirect bearer. RAN2#121 further agrees gNB provides bearer mapping information to relay UE through dedicated signalling. Thus, it is clear an indirect bearer in MP Scenario 2 is associated with a PDCP entity in the remote UE and an RLC entity in the relay UE.
Observation 1	An indirect bearer in MP Scenario 2 is associated with a PDCP entity in the remote UE and an RLC entity in the relay UE. This is a new way of RB mapping.
Basically, the buffer size in a BSR includes both the PDCP data volume and the RLC data volume. Given that an indirect bearer in MP Scenario 2 is associated with a PDCP entity in the remote UE and an RLC entity in the relay UE, how to report the buffer size of an indirect bearer in MP Scenario 2 should be considered.
It is supposed that gNB should schedule UL grant to the relay UE for indirect bearer based on the BSR reported by the relay UE, while the gNB does not need to schedule SL grant to the remote UE for indirect bearer. Thus, it is reasonable for the relay UE to include the data volume of the PDCP entity in the remote UE and the data volume of the RLC entity in the relay UE in a BSR for reporting the buffer size of an indirect bearer to the gNB, while the remote UE can indicate the PDCP data volume to the relay UE via the non-3GPP standard connection based on UE implementation.
Proposal 1 For an indirect bearer in MP Scenario 2, the relay UE includes the data volume of the PDCP entity in the remote UE and the data volume of the RLC entity in the relay UE in a BSR for reporting to gNB. And, the remote UE can indicate the PDCP data volume to the relay UE via the non-3GPP standard connection based on UE implementation.
3 	Conclusion
Based on the above discussion, we have the following observation and proposal:
Observation 1	An indirect bearer in MP Scenario 2 is associated with a PDCP entity in the remote UE and an RLC entity in the relay UE. This is a new way of RB mapping.
Proposal 1 For an indirect bearer in MP Scenario 2, the relay UE includes the data volume of the PDCP entity in the remote UE and the data volume of the RLC entity in the relay UE in a BSR for reporting to gNB. And, the remote UE can indicate the PDCP data volume to the relay UE via the non-3GPP standard connection based on UE implementation.
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